
� No.252Q約両方-20-1 �

No.252Q約両方-20-1 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 5点）

(1) 618.7÷ 0.09 (2) 268.7÷ 0.6 (3) 155.8÷ 0.7

(4) 2016÷ 0.7 (5) 290.8÷ 0.07 (6) 397÷ 0.6

(7) 60.04÷ 0.9 (8) 621.3÷ 0.7 (9) 1390÷ 0.7

(10) 32.18÷ 0.06 (11) 247.9÷ 0.6 (12) 1564÷ 0.3

(13) 416.3÷ 0.7 (14) 209.2÷ 0.09 (15) 255.9÷ 0.7

(16) 210.1÷ 0.09 (17) 348.8÷ 0.07 (18) 3.069÷ 0.07

(19) 53.71÷ 0.07 (20) 2928÷ 0.9

� 13th-note �



� No.252Q約両方-20-1 �

No.252Q約両方-20-1 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 5点）

(1) 618.7÷ 0.09
6870
6874 · · ·

(2) 268.7÷ 0.6
448
447.8 · · ·

(3) 155.8÷ 0.7
223
222.5 · · ·

(4) 2016÷ 0.7
2880

(5) 290.8÷ 0.07
4150
4154 · · ·

(6) 397÷ 0.6
662
661.6 · · ·

(7) 60.04÷ 0.9
66.7
66.71 · · ·

(8) 621.3÷ 0.7
888
887.5 · · ·

(9) 1390÷ 0.7
1990
1985 · · ·

(10) 32.18÷ 0.06
536
536.3 · · ·

(11) 247.9÷ 0.6
413
413.1 · · ·

(12) 1564÷ 0.3
5210
5213 · · ·

(13) 416.3÷ 0.7
595
594.7 · · ·

(14) 209.2÷ 0.09
2320
2324 · · ·

(15) 255.9÷ 0.7
366
365.5 · · ·

(16) 210.1÷ 0.09
2330
2334 · · ·

(17) 348.8÷ 0.07
4980
4982 · · ·

(18) 3.069÷ 0.07
43.8
43.84 · · ·

(19) 53.71÷ 0.07
767
767.2 · · ·

(20) 2928÷ 0.9
3250
3253 · · ·

� 13th-note �



� No.252Q約両方-20-2 �

No.252Q約両方-20-2 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 5点）

(1) 615.4÷ 0.9 (2) 561.5÷ 0.09 (3) 52.59÷ 0.7

(4) 41.91÷ 0.09 (5) 41.15÷ 0.07 (6) 39.82÷ 0.06

(7) 220.6÷ 0.3 (8) 30.01÷ 0.7 (9) 15.72÷ 0.3

(10) 52.4÷ 0.3 (11) 231.4÷ 0.03 (12) 51.77÷ 0.06

(13) 250.5÷ 0.3 (14) 131.8÷ 0.7 (15) 59.3÷ 0.03

(16) 2475÷ 0.3 (17) 8.75÷ 0.06 (18) 26.56÷ 0.06

(19) 492.7÷ 0.9 (20) 6831÷ 0.7

� 13th-note �



� No.252Q約両方-20-2 �

No.252Q約両方-20-2 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 5点）

(1) 615.4÷ 0.9
684
683.7 · · ·

(2) 561.5÷ 0.09
6240
6238 · · ·

(3) 52.59÷ 0.7
75.1
75.12 · · ·

(4) 41.91÷ 0.09
466
465.6 · · ·

(5) 41.15÷ 0.07
588
587.8 · · ·

(6) 39.82÷ 0.06
664
663.6 · · ·

(7) 220.6÷ 0.3
735
735.3 · · ·

(8) 30.01÷ 0.7
42.9
42.87 · · ·

(9) 15.72÷ 0.3
52.4

(10) 52.4÷ 0.3
175
174.6 · · ·

(11) 231.4÷ 0.03
7710
7713 · · ·

(12) 51.77÷ 0.06
863
862.8 · · ·

(13) 250.5÷ 0.3
835

(14) 131.8÷ 0.7
188
188.2 · · ·

(15) 59.3÷ 0.03
1980
1976 · · ·

(16) 2475÷ 0.3
8250

(17) 8.75÷ 0.06
146
145.8 · · ·

(18) 26.56÷ 0.06
443
442.6 · · ·

(19) 492.7÷ 0.9
547
547.4 · · ·

(20) 6831÷ 0.7
9760
9758 · · ·

� 13th-note �



� No.252Q約両方-20-3 �

No.252Q約両方-20-3 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 5点）

(1) 255.9÷ 0.06 (2) 8035÷ 0.9 (3) 23.74÷ 0.9

(4) 166.9÷ 0.06 (5) 5689÷ 0.7 (6) 66.37÷ 0.7

(7) 333.1÷ 0.7 (8) 424.2÷ 0.9 (9) 75.38÷ 0.09

(10) 11.55÷ 0.6 (11) 37.93÷ 0.09 (12) 2284÷ 0.3

(13) 21.24÷ 0.06 (14) 2.33÷ 0.06 (15) 2952÷ 0.3

(16) 191.2÷ 0.03 (17) 25.4÷ 0.3 (18) 45.88÷ 0.6

(19) 232.9÷ 0.03 (20) 4295÷ 0.7

� 13th-note �



� No.252Q約両方-20-3 �

No.252Q約両方-20-3 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 5点）

(1) 255.9÷ 0.06
4270
4265

(2) 8035÷ 0.9
8930
8927 · · ·

(3) 23.74÷ 0.9
26.4
26.37 · · ·

(4) 166.9÷ 0.06
2780
2781 · · ·

(5) 5689÷ 0.7
8130
8127 · · ·

(6) 66.37÷ 0.7
94.8
94.81 · · ·

(7) 333.1÷ 0.7
476
475.8 · · ·

(8) 424.2÷ 0.9
471
471.3 · · ·

(9) 75.38÷ 0.09
838
837.5 · · ·

(10) 11.55÷ 0.6
19.3
19.25

(11) 37.93÷ 0.09
421
421.4 · · ·

(12) 2284÷ 0.3
7610
7613 · · ·

(13) 21.24÷ 0.06
354

(14) 2.33÷ 0.06
38.8
38.83 · · ·

(15) 2952÷ 0.3
9840

(16) 191.2÷ 0.03
6370
6373 · · ·

(17) 25.4÷ 0.3
84.7
84.66 · · ·

(18) 45.88÷ 0.6
76.5
76.46 · · ·

(19) 232.9÷ 0.03
7760
7763 · · ·

(20) 4295÷ 0.7
6140
6135 · · ·

� 13th-note �



� No.252Q約両方-20-4 �

No.252Q約両方-20-4 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 5点）

(1) 154.9÷ 0.9 (2) 48.25÷ 0.07 (3) 47.91÷ 0.09

(4) 163.1÷ 0.03 (5) 131.5÷ 0.06 (6) 25.19÷ 0.6

(7) 25.06÷ 0.06 (8) 83÷ 0.9 (9) 4053÷ 0.6

(10) 7417÷ 0.9 (11) 69.07÷ 0.07 (12) 155.7÷ 0.09

(13) 4421÷ 0.6 (14) 86.33÷ 0.09 (15) 20.83÷ 0.3

(16) 5.74÷ 0.3 (17) 440÷ 0.06 (18) 607.4÷ 0.09

(19) 2003÷ 0.3 (20) 3883÷ 0.6

� 13th-note �



� No.252Q約両方-20-4 �

No.252Q約両方-20-4 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 5点）

(1) 154.9÷ 0.9
172
172.1 · · ·

(2) 48.25÷ 0.07
689
689.2 · · ·

(3) 47.91÷ 0.09
532
532.3 · · ·

(4) 163.1÷ 0.03
5440
5436 · · ·

(5) 131.5÷ 0.06
2190
2191 · · ·

(6) 25.19÷ 0.6
42.0
41.98 · · ·

(7) 25.06÷ 0.06
418
417.6 · · ·

(8) 83÷ 0.9
92.2
92.22 · · ·

(9) 4053÷ 0.6
6760
6755

(10) 7417÷ 0.9
8240
8241 · · ·

(11) 69.07÷ 0.07
987
986.7 · · ·

(12) 155.7÷ 0.09
1730

(13) 4421÷ 0.6
7370
7368 · · ·

(14) 86.33÷ 0.09
959
959.2 · · ·

(15) 20.83÷ 0.3
69.4
69.43 · · ·

(16) 5.74÷ 0.3
19.1
19.13 · · ·

(17) 440÷ 0.06
7330
7333 · · ·

(18) 607.4÷ 0.09
6750
6748 · · ·

(19) 2003÷ 0.3
6680
6676 · · ·

(20) 3883÷ 0.6
6470
6471 · · ·

� 13th-note �



� No.252Q約両方-20-5 �

No.252Q約両方-20-5 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 5点）

(1) 9.7÷ 0.3 (2) 6079÷ 0.7 (3) 1.607÷ 0.09

(4) 34.29÷ 0.07 (5) 5.215÷ 0.07 (6) 3.126÷ 0.07

(7) 50.5÷ 0.7 (8) 0.405÷ 0.03 (9) 299.7÷ 0.06

(10) 5.165÷ 0.07 (11) 2007÷ 0.6 (12) 224.9÷ 0.7

(13) 340.9÷ 0.6 (14) 2992÷ 0.3 (15) 409.9÷ 0.06

(16) 299.3÷ 0.3 (17) 286.5÷ 0.6 (18) 434÷ 0.09

(19) 43.45÷ 0.6 (20) 2.49÷ 0.03

� 13th-note �



� No.252Q約両方-20-5 �

No.252Q約両方-20-5 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 5点）

(1) 9.7÷ 0.3
32.3
32.33 · · ·

(2) 6079÷ 0.7
8680
8684 · · ·

(3) 1.607÷ 0.09
17.9
17.85 · · ·

(4) 34.29÷ 0.07
490
489.8 · · ·

(5) 5.215÷ 0.07
74.5

(6) 3.126÷ 0.07
44.7
44.65 · · ·

(7) 50.5÷ 0.7
72.1
72.14 · · ·

(8) 0.405÷ 0.03
13.5

(9) 299.7÷ 0.06
5000
4995

(10) 5.165÷ 0.07
73.8
73.78 · · ·

(11) 2007÷ 0.6
3350
3345

(12) 224.9÷ 0.7
321
321.2 · · ·

(13) 340.9÷ 0.6
568
568.1 · · ·

(14) 2992÷ 0.3
9970
9973 · · ·

(15) 409.9÷ 0.06
6830
6831 · · ·

(16) 299.3÷ 0.3
998
997.6 · · ·

(17) 286.5÷ 0.6
478
477.5

(18) 434÷ 0.09
4820
4822 · · ·

(19) 43.45÷ 0.6
72.4
72.41 · · ·

(20) 2.49÷ 0.03
83

� 13th-note �



� No.252Q約両方-20-6 �

No.252Q約両方-20-6 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 5点）

(1) 21.56÷ 0.03 (2) 5526÷ 0.7 (3) 281÷ 0.03

(4) 2.763÷ 0.07 (5) 44.3÷ 0.6 (6) 654÷ 0.3

(7) 0.98÷ 0.06 (8) 29.57÷ 0.06 (9) 4.4÷ 0.03

(10) 670÷ 0.3 (11) 551.6÷ 0.6 (12) 25.84÷ 0.3

(13) 55.89÷ 0.6 (14) 5.982÷ 0.09 (15) 6204÷ 0.7

(16) 19.65÷ 0.06 (17) 26.87÷ 0.09 (18) 9.65÷ 0.07

(19) 5.92÷ 0.09 (20) 34.81÷ 0.07

� 13th-note �



� No.252Q約両方-20-6 �

No.252Q約両方-20-6 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 5点）

(1) 21.56÷ 0.03
719
718.6 · · ·

(2) 5526÷ 0.7
7890
7894 · · ·

(3) 281÷ 0.03
9370
9366 · · ·

(4) 2.763÷ 0.07
39.5
39.47 · · ·

(5) 44.3÷ 0.6
73.8
73.83 · · ·

(6) 654÷ 0.3
2180

(7) 0.98÷ 0.06
16.3
16.33 · · ·

(8) 29.57÷ 0.06
493
492.8 · · ·

(9) 4.4÷ 0.03
147
146.6 · · ·

(10) 670÷ 0.3
2230
2233 · · ·

(11) 551.6÷ 0.6
919
919.3 · · ·

(12) 25.84÷ 0.3
86.1
86.13 · · ·

(13) 55.89÷ 0.6
93.2
93.15

(14) 5.982÷ 0.09
66.5
66.46 · · ·

(15) 6204÷ 0.7
8860
8862 · · ·

(16) 19.65÷ 0.06
328
327.5

(17) 26.87÷ 0.09
299
298.5 · · ·

(18) 9.65÷ 0.07
138
137.8 · · ·

(19) 5.92÷ 0.09
65.8
65.77 · · ·

(20) 34.81÷ 0.07
497
497.2 · · ·

� 13th-note �



� No.252Q約両方-20-7 �

No.252Q約両方-20-7 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 5点）

(1) 76.69÷ 0.9 (2) 229.9÷ 0.7 (3) 66.02÷ 0.9

(4) 263.9÷ 0.6 (5) 690÷ 0.07 (6) 4.046÷ 0.07

(7) 600.9÷ 0.9 (8) 1391÷ 0.6 (9) 61.24÷ 0.07

(10) 29.68÷ 0.7 (11) 1.778÷ 0.09 (12) 5.284÷ 0.07

(13) 4875÷ 0.7 (14) 1934÷ 0.3 (15) 28.68÷ 0.06

(16) 7.47÷ 0.06 (17) 2501÷ 0.7 (18) 59.22÷ 0.06

(19) 48.83÷ 0.6 (20) 52.6÷ 0.9

� 13th-note �



� No.252Q約両方-20-7 �

No.252Q約両方-20-7 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 5点）

(1) 76.69÷ 0.9
85.2
85.21 · · ·

(2) 229.9÷ 0.7
328
328.4 · · ·

(3) 66.02÷ 0.9
73.4
73.35 · · ·

(4) 263.9÷ 0.6
440
439.8 · · ·

(5) 690÷ 0.07
9860
9857 · · ·

(6) 4.046÷ 0.07
57.8

(7) 600.9÷ 0.9
668
667.6 · · ·

(8) 1391÷ 0.6
2320
2318 · · ·

(9) 61.24÷ 0.07
875
874.8 · · ·

(10) 29.68÷ 0.7
42.4

(11) 1.778÷ 0.09
19.8
19.75 · · ·

(12) 5.284÷ 0.07
75.5
75.48 · · ·

(13) 4875÷ 0.7
6960
6964 · · ·

(14) 1934÷ 0.3
6450
6446 · · ·

(15) 28.68÷ 0.06
478

(16) 7.47÷ 0.06
125
124.5

(17) 2501÷ 0.7
3570
3572 · · ·

(18) 59.22÷ 0.06
987

(19) 48.83÷ 0.6
81.4
81.38 · · ·

(20) 52.6÷ 0.9
58.4
58.44 · · ·

� 13th-note �



� No.252Q約両方-20-8 �

No.252Q約両方-20-8 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 5点）

(1) 221.4÷ 0.03 (2) 619.1÷ 0.07 (3) 266.9÷ 0.06

(4) 535÷ 0.06 (5) 1.654÷ 0.03 (6) 6.69÷ 0.07

(7) 604.9÷ 0.09 (8) 2484÷ 0.3 (9) 1.801÷ 0.07

(10) 16.75÷ 0.6 (11) 24.74÷ 0.06 (12) 5.978÷ 0.09

(13) 530.1÷ 0.6 (14) 28.73÷ 0.03 (15) 5.514÷ 0.07

(16) 3.162÷ 0.07 (17) 5739÷ 0.7 (18) 133.3÷ 0.3

(19) 769.9÷ 0.09 (20) 2241÷ 0.3

� 13th-note �



� No.252Q約両方-20-8 �

No.252Q約両方-20-8 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 5点）

(1) 221.4÷ 0.03
7380

(2) 619.1÷ 0.07
8840
8844 · · ·

(3) 266.9÷ 0.06
4450
4448 · · ·

(4) 535÷ 0.06
8920
8916 · · ·

(5) 1.654÷ 0.03
55.1
55.13 · · ·

(6) 6.69÷ 0.07
95.6
95.57 · · ·

(7) 604.9÷ 0.09
6720
6721 · · ·

(8) 2484÷ 0.3
8280

(9) 1.801÷ 0.07
25.7
25.72 · · ·

(10) 16.75÷ 0.6
27.9
27.91 · · ·

(11) 24.74÷ 0.06
412
412.3 · · ·

(12) 5.978÷ 0.09
66.4
66.42 · · ·

(13) 530.1÷ 0.6
884
883.5

(14) 28.73÷ 0.03
958
957.6 · · ·

(15) 5.514÷ 0.07
78.8
78.77 · · ·

(16) 3.162÷ 0.07
45.2
45.17 · · ·

(17) 5739÷ 0.7
8200
8198 · · ·

(18) 133.3÷ 0.3
444
444.3 · · ·

(19) 769.9÷ 0.09
8550
8554 · · ·

(20) 2241÷ 0.3
7470

� 13th-note �



� No.252Q約両方-20-9 �

No.252Q約両方-20-9 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 5点）

(1) 7089÷ 0.9 (2) 16.14÷ 0.6 (3) 99÷ 0.03

(4) 49.4÷ 0.03 (5) 1.909÷ 0.07 (6) 22.77÷ 0.06

(7) 30.8÷ 0.9 (8) 386.4÷ 0.9 (9) 500.5÷ 0.6

(10) 40.82÷ 0.07 (11) 0.515÷ 0.03 (12) 26.53÷ 0.9

(13) 24.37÷ 0.03 (14) 530÷ 0.3 (15) 431.1÷ 0.06

(16) 20.3÷ 0.03 (17) 7736÷ 0.9 (18) 31.72÷ 0.06

(19) 40.53÷ 0.6 (20) 3.76÷ 0.07

� 13th-note �



� No.252Q約両方-20-9 �

No.252Q約両方-20-9 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 5点）

(1) 7089÷ 0.9
7880
7876 · · ·

(2) 16.14÷ 0.6
26.9

(3) 99÷ 0.03
3300

(4) 49.4÷ 0.03
1650
1646 · · ·

(5) 1.909÷ 0.07
27.3
27.27 · · ·

(6) 22.77÷ 0.06
380
379.5

(7) 30.8÷ 0.9
34.2
34.22 · · ·

(8) 386.4÷ 0.9
429
429.3 · · ·

(9) 500.5÷ 0.6
834
834.1 · · ·

(10) 40.82÷ 0.07
583
583.1 · · ·

(11) 0.515÷ 0.03
17.2
17.16 · · ·

(12) 26.53÷ 0.9
29.5
29.47 · · ·

(13) 24.37÷ 0.03
812
812.3 · · ·

(14) 530÷ 0.3
1770
1766 · · ·

(15) 431.1÷ 0.06
7190
7185

(16) 20.3÷ 0.03
677
676.6 · · ·

(17) 7736÷ 0.9
8600
8595 · · ·

(18) 31.72÷ 0.06
529
528.6 · · ·

(19) 40.53÷ 0.6
67.6
67.55

(20) 3.76÷ 0.07
53.7
53.71 · · ·

� 13th-note �



� No.252Q約両方-20-10 �

No.252Q約両方-20-10 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 5点）

(1) 103.9÷ 0.3 (2) 3.811÷ 0.06 (3) 468.9÷ 0.7

(4) 8.843÷ 0.09 (5) 2091÷ 0.3 (6) 9.43÷ 0.6

(7) 38.14÷ 0.07 (8) 4690÷ 0.6 (9) 553.9÷ 0.6

(10) 2.615÷ 0.07 (11) 142.4÷ 0.09 (12) 572.7÷ 0.06

(13) 4879÷ 0.7 (14) 593.7÷ 0.06 (15) 50.7÷ 0.07

(16) 654÷ 0.07 (17) 20.71÷ 0.07 (18) 79÷ 0.03

(19) 2.831÷ 0.03 (20) 4535÷ 0.7

� 13th-note �



� No.252Q約両方-20-10 �

No.252Q約両方-20-10 （ 点） （ 分 秒）

割り算して、商を上から 3けた答えなさい。割り切れなければ四捨五入しなさい。（１問 5点）

(1) 103.9÷ 0.3
346
346.3 · · ·

(2) 3.811÷ 0.06
63.5
63.51 · · ·

(3) 468.9÷ 0.7
670
669.8 · · ·

(4) 8.843÷ 0.09
98.3
98.25 · · ·

(5) 2091÷ 0.3
6970

(6) 9.43÷ 0.6
15.7
15.71 · · ·

(7) 38.14÷ 0.07
545
544.8 · · ·

(8) 4690÷ 0.6
7820
7816 · · ·

(9) 553.9÷ 0.6
923
923.1 · · ·

(10) 2.615÷ 0.07
37.4
37.35 · · ·

(11) 142.4÷ 0.09
1580
1582 · · ·

(12) 572.7÷ 0.06
9550
9545

(13) 4879÷ 0.7
6970

(14) 593.7÷ 0.06
9900
9895

(15) 50.7÷ 0.07
724
724.2 · · ·

(16) 654÷ 0.07
9340
9342 · · ·

(17) 20.71÷ 0.07
296
295.8 · · ·

(18) 79÷ 0.03
2630
2633 · · ·

(19) 2.831÷ 0.03
94.4
94.36 · · ·

(20) 4535÷ 0.7
6480
6478 · · ·

� 13th-note �


